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ACROSS          DOWN                                                                                               

1    State where IIT Bhilai is situated      2   State where IIT Tirupati is situated                                         

5    State where IIT Palakkad is situated      3   State where IIT Kharagpur is situated                                   

7    State where IIT Gandhinagar is situated     4   State where IIT Ropar is situated                                                 

8    State where IIT Mandi is situated      6   State where IIT Roorkee is situated                                          

11 State where IIT Guwahati is situated      10 State where IIT Delhi is situated                                        

12 State where IIT Hyderabad is situated 
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